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Homework Quiz 01: 12.2#10

Find a vector that has the same direction as (—6, 4, 2) but has length 6.
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Homework QLllZ 02: 12.3#14

Find the scalar and vector projections of b = <2,3,4> onto a = (5,—6,—I>
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Homework Quiz 03: 12.449

Consider the points P(1,0,1), O(-2,1,4), and R{7,2,7).

a.) Find a nonzero vector orthogonal to the plane through the points 2, O,and R."
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b.} Find the area of the triangle POR,
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Homework Quiz 04; 12.5#5

Find parametric equations and symmetric equations for the line through (3, 3, 0) and

perpendicular to both i+ jand j + k 2 ﬁ &
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Homework Quiz 05; 12.5#11

A 9 <
Find an equation of the plane through the points (0, 4, 4), (4, 0, 4), and (4, 4, 0)
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Homework Quiz 06: 12.5#17
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Find an equation of the plane that passes through the point (-2, 3, 2) and contgn?fi;e line of
intersection of the planesx +y~z=2 and Zx —y+ 3z =3
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A émw%mﬁ wwém‘ ‘E?’W the lme of intersection 8 a = my X By = (1,1, -1} =
G, 53, and a is parallel to ?;i'iﬁ desired. plane,  Another
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